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1. What does the man want the woman to do?

A. Visit more places.

B. Leave some film for his friends.

C. Spare some time to meet his friends.

2. What does the man think of the lecture?

A. Misleading. B. Boring. C. Excellent.
3. How far is the nearest supermarket?
A.5 km. B. 3 km. C. 2 km.

4. What are the speakers mainly talking about?

A. The meaning of life.

B. Necessities of life.

C. Functions of the mobile phone.

5. When can the man start working?

A. In May. B. In June. C. In July.
e .
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6. What are the speakers mainly discussing?
A. A science class. B. The homework.
C. A brief survey.

7. What is easy for the woman?

A. Making up a survey form.

B. Finding enough people.

C. Analysing the data.
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8. Where are the speakers?
A. In an office. B. At the man’s. C. At a restaurant.
9. What relation is Mary to the man?
A. His wife. B. His secretary. C. His boss.

10. What was the woman doing when Spoulos occured to her mind?

A. Talking with Mary.

B. Making a phone call.

C. Taking a bath.
W T — BeXd 3G, &5 11 255 13 =AM,
11. What is the conversation mainly about?

A. How to celebrate thanksgiving.

B. What gifts to buy for families.

C. What to eat at the dinner party.
12. Where will the woman spend her thanksgiving?

A. At her home. B. At her mother’s. C. At the man’s.
13. What food is more popular in the woman’s family?

A. Mashed potatoes. B. Fruit salads. C. Pumpkin pie.
W T — Bt i, &4 14 25 16 =4S/,
14. What did the man do on Monday?

A. He broke a few jars of jam,

B. He drank some orange juice.

C. He put everything on the shelves.
15. When did the man put labels on everything?

A. On Tuesday. B. On Wednesday. C. On Thursday.
16. Where does the man work?

A. In a supermarket.

B. In a food factory.

C. In a delivery company.
W T — B, WA 17 A 20 AN/,
17. Why does the speaker give this talk?

A. To remind the listeners to bring some stuff.

B. To announce some changes of the trip.

C. To attract more people to the trip.
18. How long will the trip last?

A. Two weeks. B. One week. C. Two days.
19. What special activity will be prepared?

A. A dressing party. B. A dinner party. C. A dancing party.
20. What does the speaker suggest wearing at the party?

A. Formal clothes.

B. Suitable clothes.

C. Fashionable clothes.
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1. What are the speakers talking about?

A. Holiday plans. B. Train schedule. C. Ticket booking.
2. What does the woman mean?

A. She prefers tea to coffee.

B. She needs coffee to refresh herself.

C. She drinks coffee for breakfast only.
3. What is the woman going to do?

A. Take a vacation. B. Work in Miami. C. Visit some friends.
4. Why does the man apologize to the woman?

A. He lied to her.

B. He forgot to tell her something.

C. He didn’t visit her in the hospital.
5. How does the woman sound?

A. Angry. B. Surprised. C. Excited.
% :-i-ﬁ’- __;‘
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6. What is the probable relationship between the speakers?

A. Friends.

B. A couple.

C. Business partners.
7. Where will the woman go first?

A. The bank. B. The nursery. C. The supermarket.
W R T — B, [ &5 8 RIAS 9 BN/,
8. Why does the man mention his sister?

A. He’ll visit her soon.

B. She also has a toothache.

C. He loves the sweets she made.
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9. What does the woman ask the man to do?
A. Eat less food.
B. Brush his teeth more.
C. Take more medicine.
Wy T — BeX 3G, &5 10 255 12 =AM,
10, What happened to Sandra recently?
A. She often got sick. B. Her grades dropped.
C. She quarreled with her parents.
11. What is Sandra’s part-time job?
A. Teaching piano lessons.
B. Giving out newspapers.
C. Tutoring after school.
12. What is the teacher’s advice?
A. Reduce the amount of after-school activities.
B. Quit the part-time job at once.
C. Spend more time at home.
W T — B 3 , W& 45 13 255 16 A/,
13. What’s the conversation mainly about?
A. Tony’s daily schedule. B. Tony’s difficulties.
C. Tony’s job.

14. Where does the man work now?

A. In a bank. B. In a hospital. C. In a school.
15. What does the man like to wear?
A. Jeans. B. A suit. C. A T-shirt.

16. What is the man satisfied with?

A. Free Internet. B. The holidays. C. The income.

W T — Bt 3, &4 17 25 20 AN/,
17. What does the speaker ask the students to bring?

A. Class notes. B. Extra pens. C. Some paper.

18. How many questions need to be answered?

A. 3. B. 5. C. 8.
19. What does the speaker advise the students to do?

A. Recite the textbook.

B. Review the mid-term exam.

C. Do the research projects.
20. What do we know about the exam?

A. 1t is as difficult as the mid-term exam.

B. Everyone’s grade is up to the exam totally.

C. It covers all the topics discussed in class.
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1. Which book does the man suggest the woman borrow?

A. The novel. B. The cook book. C. The law book.
2. What is the man tired of?

A. Chinese food.

B. Japanese food.

C. American food.
3. What has the man grown in his garden?

A. Vegetables. B. Flowers. C. Fruits.
4. Why doesn’t the man go out with his friends?

A. He is busy in earning money.

B. Things are expensive.

C. He has no time.
5. How late is the woman?

A. Over an hour. B. An hour. C. 45 minutes.
g o) ;;
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6. Why does the man make the phone call?

A. To make an appointment.

B. To ask for some information.

C. To offer some suggestions.
7. What will the man do afterwards?

A. Find a house.

B. Hunt for a new job.

C. Read some materials.
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8. Where are the speakers?

A. At a meeting. B. At a party. C. At a wedding.
9. Who is in Toronto?
A. Jim. B. Anne. C. Mary.

W T T — B, AR 10 AR 12 =4S/,
10, How long does the exhibition last in total?
A. About one week.
B. About three weeks.
C. About one month,
11. When is the gallery closed on weekends?
A. At 3:00 p. m. B. At 4:00 p. m. C. At 5:00 p. m.
12. What does the man want to see?
A. Old pictures.
B. Modern paintings.
C. Modern sculpture.
W T — Bt i, &4 13 25 16 YA/,
13. What is the probable relationship between the speakers?
A. Fellow workers.
B. Strangers.
C. Guide and tourist.
14. What does the man do?

A. A teacher. B. A doctor. C. A nurse.
15. Where does the woman come from?
A. Nepal. B. France. C. Switzerland.

16. What do we know about the woman?

A. She will go back next week.

B. She doesn’t know Elizabeth Morath.

C. She came to the place for work.
W T — Bt 3, W& 45 17 255 20 AN/,
17. What is the speaker?

A. A ticket seller. B. A bus conductor. C. A tour guide.
18. Where are the listeners probably?

A. On a bus.

B. At the airport.

C. At a tourist spot.
19. How much does a ticket cost a child above 147

A. $14. B. $15. C. $25.
20. Where will the listeners have lunch?

A. At the Nicolet Shopping Center.

B. At the St. Anthony’s Falls.

C. At the Waller Art Center.
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1. What will Jack probably do?

A. Stay in business.  B. Attend a medical school.

C. Study for some profession.
2. What does the man mean?

A. He seldom cared about his health.

B. He was not aware of his illness.

C. His symptoms were clear.

3. What time did the man arrive?

A. At 9.23. B. At 9:30. C. At 9:37.
4. Where did Bob and Belly go for their holiday?
A. America. B. Australia. C. Britain.
5. When will the speakers meet the man’s mother?
A. On Sunday. B. On Monday. C. On Tuesday.
—_—
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6. Where does the conversation probably take place?

A. At home. B. At a restaurant. C. At Susan’s house.
7. Who is probably Susan?

A. Mrs. Johnson’s sister.

B. A babysitter.

C. A waitress.
W T — BexX 3, 285 8 AR 10 =4/,
8. What’s the man’s attitude toward the paper?

A. Calm. B. Surprised. C. Impatient.
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9. What’s the woman’s solution?
A. Going to the library.
B. Searching the reference on the Internet.
C. Starting from the definition of the term.
10. What will the man do next?
A. Have a good rest. B. Consult a dictionary.
C. Search articles online.
W T — Bt i, W& 4 11 255 13 =4/,
11. Where are the speakers?
A. In a cinema. B. In a grocery. C. In a bookstore.
12. When did popcorn grow more popular?
A.In 1621. B. In the 1930s. C. In 1947.
13. What are the speakers talking about?
A. The function of popcorn on films.
B. The various uses of popcorn.
C. The brief history of popcorn.
W T — Be 1, 2SR 14 255 17 PO/,
14, What is the man?
A. A student. B. A reporter. C. A teacher.
15. How did the man know about the woman?
A. From his chemistry teacher.
B. From a popular magazine.
C. From his friends.
16. What does the man invite the woman to do?
A. Watch a short movie. B. Have a boat trip. C. Visit his room.
17. What do we know about the woman?
A. She is unfamiliar with the place.
B. She has problems in reading.
C. She has no map.
Wr T I — B, A 18 AR 20 =AM
18. How does the speaker conduct classroom activities?
A. According to her lesson plans.
B. According to the state of the students that day.
C. According to the school plans and exam requirements.
19. What does the speaker think of the students?
A. They don’t learn English hard.
B. They are really troublesome.
C. They bring great joy.
20. What is the bad side of being a teacher?
A. It’s a tiring job.
B. It’s hard to write teaching plans.

C. It’s boring to teach the same thing year after year.
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1. What does the woman think of the man?

A. Very careful. B. Too careless. C. Quite dishonest.
2. What happened to the tape?

A. Michael brought it to the party.

B. Michael has returned it to Jim.

C. Michael couldn’t find it.
3. What does the woman mean?

A. She forgot to cancel the reservation.

B. They can go to the restaurant tonight.

C. She hasn’t made a reservation.
4. Why can’t the woman contact the man?

A. He just had a long phone conversation.

B. His phone is out of order.

C. The phone line is poor.
5. How will the woman’s problem be solved?

A. She’ll get her money back.

B. She can exchange the T-shirt.

C. She’ll have a talk with the manager.
F-T
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6. When will the speakers meet?

A. On Wednesday. B. On Tuesday. C. On Monday.
7. Why does the man call the woman?

A. To praise her for her progress.

B. To invite her to his office.

C. To make an appointment.

AR
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8. What is the woman doing outside?
A. Reading. B. Looking at the lights.
C. Waiting for her kid.
9. What do we know about the woman?
A. She worked hard and achieved success.
B. She still lives a very hard life.
C. She will leave the city soon.
W T — Bex 3, A5 10 25 12 = A/,
10. Where does this conversation most probably take place?
A. At Leech’s school. B. At the man’s. C. On the phone.
11. How long has Leech been away from home?
A. The whole afternoon. B. A whole day.

C. Two days.
12. What’s the color of Leech’s shirt?
A. White. B. Blue. C. Green.

Wy T — BeXt 3G, &5 13 255 16 P/,
13. How does the woman feel?
A. Excited. B. Tired. C. Sorry.
14, What happened to the woman?
A. She was late for her flight.
B. Her flight was canceled.
C. Her flight was delayed.
15. What was the woman’s flight like?
A. Noisy and uncomfortable.
B. Quiet and relaxing.
C. Crowded but nice.
16. What was wrong with the woman’s bag?
A. It was broken. B. It was lost.
C. It was left at the airport.
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17. What’s the discovery about hobbies?
A. They are profitable and fun.
B. They are restful.
C. They are tiring.
18. Which hobbies may become occupations according to the passage?
A. Painting and playing football.
B. Writing and taking photographs.
C. Writing and swimming.
19. What’s the effect of hobbies in the doctors’ opinion?
A. Help people choose jobs.
B. Make people busy with life.
C. Make people’s lives more enjoyable.
20. What should people sitting all day at desks do?
A. Do some sports.

B. Raise some fish or flowers.

C. Collect stamps or bottles.
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1. What does the man mean?
A. March is the best time to visit Australia.
B. He is expecting the winter holiday.
C. He has no concern about the trip.
2. What’s the relationship between the speakers?
A. Schoolmates.
B. Teacher and student.
C. Workmates.
3. How does the woman feel about products nowadays?
A. Satisfied with their price.
B. Displeased with their quality.
C. Pleased with their modern techniques.
4. What seems to be a problem to the man?
A. The gas price.
B. The cost of repairing cars.
C. The increasing number of cars.
5. Where did Jane go during the vacation?
A. The UK. B. The USA. C. Russia.
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6. Why does the man call Cathy?

A. To tell her about her paper.

B. To ask her to take a break.

C. To introduce her a restaurant.




